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1. g HEWIg Tadiel Uiiden FuE Hivft Sy wehen vefas gern wsim fow ?
(1) FvEaTa Je8Iv (2) TSR W
(3) ©i. €. vmE (4) . Taf=E
Who resigned from the post of Finance Minister of India to support the Sanyukta
Maharashtra Movement ? '

(1) Yeshwantrao Chavan (2) Balasaheb Kher
(3) C.D. Deshmukh (4} K. M. Pannikar
2. 1962 ATeht SogT HHA TRATSR 3THAY et dea] AT TRE0T 7l Fi01 §1d ?
(1) SR T8% (2) . diarmE
(3) FT T (4) 30 Rgal
Who was the Defence Minister of India when China attacked India in 1962 ?
(1) Jawaharlal Nehru (2) P. Sitaramayya
(3) Krishna Menon (4) Arun Mehta

3. IR S el TR ?
(1) wiesiars & - gy T
(2) ufear e - 3 g = g ama
(3) faza wwshl 3 - smeavft 5 sy
(4) g wERW - fog wIe foa
Which is the mismatched pair ?
(1) Savitribai Phule — Subodh Ratnakar
(2) Pandita Ramabai — The High Caste Hindu Woman
(3) Vitthal Ramji Shinde — a3afl 9 3gwa Remembrances and Experiences
(4) Shahu Maharaj — Hindu Code Bill

4. “Je 2 7dreNy Tgg st weh Tl el e, e faem wiswm feremEa o 7

(1) 2. STeTETRs ATsER @) fogw wwsh iR
(3) HETEHT Sidften Bt (4) M FEWS
Who put forth the thought that “Vedas were not infalliable and that they were created
by Aryans” ?
(1) Dr. Babasaheb Ambedkar (2) Vitthal Ramiji Shinde
(3) Mahatma Jotiba Phule (4) Shahu Mabaraj
5. oft gail dawiq @refiertehl wivft @t S e ?
(1) 9. 7M. T (2) . T, AR
(3) & %. %3 (4) Fhath Tt vt s A
Who did not work for emancipation of women ?
(1) M. G. Ranade (2) G.G.Agarkar
(3) D.K. Karve (4) None of the above alternatives is correct
ool HIHTHTS! AT /SPACE FOR ROUGH WORK P.T.O.
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6. ‘Uayitel’ ST Hd YUH HEl HOM 3 < HW0 7

(1) 9RE § %14 (2) YNG9 gis

(8) WRd ¥ S (4) wRd adH

Which two countries were the first to sign the Panchsheel ?

{1} india and France (2) India and England

(3) India and Japan (4) India and China
7. 1857 =1 RBEW WAAIE W HIvh Gaiforet ?

(1) W 9.3 HeH (2) . 3. tedm

(3) & IR, HI. ER (4) 4. =1. g

Who called the “1857 Uprising” “A War of Independence” ?

(1) Prof. N. R. Phathak (2) P.E. Roberis

(3) Dr.R. C. Mujumdar (4) V.D. Sawarkar
8. WO FEEN Fieeiand) @an wagresT= ffd el 7

(1) 1813 =1 G ®EaM (2) 1909 =1 Aiel- 5=t gawon

(3) 1919 =T Ai-7 SIS RO (4) 1935 =T YA GERUT HRH
Which act declared separate electorates for Muslims ?

(1) Charter Act of 1813 (2) Morley-Minto Reforms 1208
(3) Montague-Chemsford Reforms 1819 (4) Government of India Act, 1935

9. STk a9 SATARSR Teah TS YA HI0TedT aeien JIehR Fall ?

(1) oo o @awE (2) sfTaETE

(3) wefa (4) Tt

Which principles did India promote for International Peace and Co-operation ?
(1) Equality of Religion (2) Non-alliance

(3) Panchasheel (4) Disarmament

10. WERA M THE T devla y&er e ue
H) A Hq GHNEE Y9 Bl
&) ! T R T hedl.

¥F) & HaTe YEEE B,

T) i e feror a gafdareran gERR e

(1) 99 % RN (2) 3, 1, % SR
(3) &, %, TR (4) Td SR

Consider the following statements regarding Mahadev Govind Ranade
A) He was influenced by Sant Tukaram

B) He established many institutions

C) He was a moderate

D) He promoted aduit education and remarriage

(1) Band C are right {2) A, B, C areright

(3) B, C, D are right (4) All are right

HooAl HIHTETET AT /SPACE FOR ROUGH WORK
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11, ‘IRER R T WS U™ v T 39 3 HIUE 74 8 7

(1) weRa MR TR (2) TiTes F g

(3) Torrareren e (4) RS AR

Who believed that “a weapon like boycott must be reserved for extreme occasions” ?
(1) Mahadev Govind Ranade (2) Gopal Krishna Gokhale

(3) Pherozshah Mehta (4) Dadabhai Naoroji

12. WCTCIUshl vt St gohre! 3118 7
(1) e f3newr geen - e weE T
(2) SIFTEeh - ATEEE FIBKT
(3) faa i - gpewm wédam
(4) AU TN - FASIE TS
Which of the following is wrongly matched ?
(1) Rayat Shikshan Sanstha — Karmavir Bhaurao Patil
(2) Jagruk — Walchand Kothari
(3) Dinmitra — Mukundrao Patil
(4) Maratha League — Sayajirao Gaikwad

13. R T gaia |t et fagmrn ff=m .
) T i T S Y IR,
o) TR AT STR.
) AT T A= TN ‘Teoar! i e A,
T) WA T I eRTeRITe FE1 AT IR,
et Hor Fyam /frem e o ?
(1) S A, (2 BHH (3) A, 49, %, 4) 31,9, %
Consider the following statements in respect of Himalayan rivers :

a) They have a great eroding capacity

b) These are perennial rivers

c) These rivers have not formed ‘gorges’

d) Most of these rivers have their origin in upper Himalayas

Which of the statements given above is / are not correct ?
(1) Onlya,b (2) Onlyc 3) ab,cd (4) a,b,d

THoodT RINTATS! SATT/SPACE FOR ROUGH WORK P.T.O.
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14. i SEsH A
w9 | (ST TER)
A) TERRT
B) el
C) =l
D) ashEt
A B C D
M1 v om
@n mo 1Y
@n W [
@1 noom W
Match the following :
Column I (Type of forest)
A) Evergreen
B) Deciduous
C) Thomy
D) Coastal
A B C B
(1 | vV oomo

@n mo1 W
@n v o
@1 nom v

)
1)
V)

)
)
V)

Column i (Trees)
Babul

Rubber
Mangroves

Teak

15. & wemavG fyagases @ smeen w4t gere frdiol ggams w1 e o7 ?

(1) 3TTR-Iorehdiaeia Sheivad ug

(3) Tergaaita =i < ugt

(@)
(4)

gfyedt seem
et T

What is the name of low pressure belt located near the equator in the Indian ocean ?

(1)} Intra-tropical centralized zone

(3} Tropical low pressure bek

by
(4)

Western jet stream

None of these
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16. T SIS @
w9 | =l
0T TR AT
A} S ) IR AP
B) Wem I fremmr
C) mirheie ) el Tt
D) YSW&u V) JaTsiiheh
A B C D
(1 | v i
@ | il 1} v
@ v W |
@ 1 v Hi
Match the following :
Column| Column i
Dam Lake
A) Koyna ) Shahaji Sagar
B) Bbhatghar i) Shivsagar
C) Manikdoh fil} Aurther Sarovar
D) Bhandardara IV} Yesajikank
A B C D
(N 1 v 0 n
2 | I i v
@ v o !
@n v o [}
17. 93 FiBim ‘om’ serro get e e Swed ar ?
(1) =ary (2) A=oft (3) TG (4) ==
The Sandy ‘Loam’ soil is favourable for the growth of which crop ?
(1) Jawar (2) Nachani (3) Rice (4) Tea
18. WTRATIET URUI FASATIHT TEid SITEd & RV S ST 38 7
(1) Rgageig s uHeE) o=
(2) fageada e i e
(3) Tayes<ha wrE Az T4
(4) Torgaeeha oed-zha =
Which type of forests are the most extensive in India ?
(1) Tropical moist deciduous forests
(2) Tropical dry evergreen forests
(3) Tropical dry deciduous forests
{4) Tropical semi-evergreen forests
. HTT HHETE! FIAM/SPACE FOR ROUGH WORK P.T.O.
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19. Toreen aftae= wemft Uit gaiftes Teams 3@ wr
(1) srftrfegaR Tieq aweiel s,
(2) Tfirfg fereer aitwewar yael geEmT gaEy e,
(3) foreer aftae=n 1xae wivdiar veftrg avmd smdl it 3or afyear™ avmd) @ teftg ge=

- HAEdTE.

(4) foem vitwe=n gea swEdsRl 21t a1 wfirdtan ot o,

Why in Maharashtra the Standing Committee of Zilla Parishad considered most

powerful ?

(1) Committee is constituted as per law.

(2) Committee consists of influencial members of Zilla Parishad

(3) President of Zilla Parishad is ex-officio Chairman and Chairmen of other
Committees are ex-officio members.

(4) Chief Executive Officer of Zilla Parishad is the Secretary of the Committee.

20. FETHT Mt AT Yot gt e
(1) wH mggfﬁﬁaﬂhmﬁm T S15eTeT Mg il foh M 100 figa +m Iuetsy #ed
(2) T WO YE e ST YSTIR IueTed %A &l
(3) el WP RIS FTFIAT fhar Aar= g4t 2.
(4) a0e wd.
Mahatma Gandhi National Rural Employment Guarantee Act

(1) Provides at least 100 days of guaranteed wage employment in a financial year to
unskilled adult in rural area.

(2) Provides employment to each and every adult who lives in rural area.

(3) Provides minimum wages to unskilled labour in urban area.
(4) All the above.

21. TERrgE SHHEN e, IHA g S QRO greeftE AifEet STy FHEA TUHT
ot oy 7 HeHT ) HefHd
(1) dedicer (2) TEE (3) et (4) Te| TS
Who provides the basic information about land records, land revenue and land reforms
in Maharashtra ?
(1) Tahsildar (2) Gramsevak {3) Talathi (4) Police Patil

22, R fagm e o .
D e S et A g o
2) k| q
3) IR Hes G 9 Y maaa‘lm%m I AT

FHIR /FHroret faem /g st o/ oTRd ?
(1) *a 1 (2 192 (3) 133 4y 1,233
Consider the following statements : ‘

1) The MPSC was set up on 1-5-1960.

2) The Bombay PSC earlier covered Bombay and Guijrat States.

3) The Commission traces it origin to the PSC for the provinces of Bombay and Sind.
Which of the above statements are correct ?
(1) Only 1 (2) 1and2 (3) 1and3 (4) 1,2and3

oA HHTATST ATT/SPACE FOR ROUGH WORK




{ G 9 PRM

23.

TR AT Te) Herehioar S iHId Gerod) qe Hagd vl HREHER e T 7
(1) Taei e 1773 (2) =& Fae 1833

(3) =T 3T 1853 (4) Fr Fda 3T 1861

By which Act free and fair competition for recruitment to Indian Administration has
been first accepted ?

(1) Regulating Act 1773 (2) Charter Act 1833
(3) Charter Act 1853 (4) Indian Council Act 1861

24. A Tsaerediet oo el Shdeare! e ohIVIeT ST TSaHeae HUTg 3Tl TR 7
(1) = (2) 3.W4T (3) J. W, T, M. (4) T

The provision of Fundamental Duties in Indian Constitution has been adopted from
that of which country ?

(1) France (2) USA (3) USSR’ 4) UK

25. Wd GwhR ANFEE, 1935 TEfie ‘GEATETET GURY 1950 <A1 TR FAHG F41 el 3R 7
(1) qEOMg & (2) TS ArleYi T=
(3) NI FeieA (4) Frh

How has the “Instrument of instructions” contained in the Government of India Act,
1935 been incorporated in the Constitution of India ?

(1) Fundamental Rights (2) Directive Principles of State Policy
(3) Fundamental Duties (4) Union List
26. @eiieTdeh! i) o st JRd 7

a) TSRAWE] TS FEUHE HaeH i el TR,

b) TR R AT SRR U TR wTd ek FaSuehia RagM Herie shet 3T,

(1) % a (2) R/ b (3) aanfrb (4) adba=h e
Which of the following statements are correct ?

a) Gujarat has made voting in local bodies compulsory.

b) Guijarat is the second state in the country to make voting compulsory in local

elections.
(1) aonly (2) bonly (3) aandb (4) Neitheranorb
27. @rclidl Giden A1 T8I HHTGER ST,

a) . 7R, =&, v afieh

b) SCEAE HEdT W

c) SIS HEd "kt

d) &. derw wivdt
(1) b-c-d-a (2) b-a-d-c 3) b-a-c-d @) b-d-c-a
Arrange the following committees in chronological order in which they were constituted.
a) G.V.K. Rao Committee

b) Balwantrai Mehta Committee

¢) Ashok Mehta Committee

d) K. Santhanam Committee

(1) b-c-d-a (@) b-a-d-c¢ 3) b-a-c-d (4) b-d-c-a

Tl HIHTATST AT/ SPACE FOR ROUGH WORK P.T.O.
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28.

10 VAR

Greferdeh! v} faem strat omea 7

a) e 243-O vt fRate sl e sasw iE g

b) HIUTITE e TeaT FarsuhieaT AeRien 31eeH e TSaredT RitrsTeT Tadigar

e ol g e oI ed

(1) % a (2) %= b (3) ag b (4) ad b <= A
Which of the following statements are correct ?

a) Article 243-O bars the interference by courts in electoral matters of Panchayats

b) The validity of an election to any Panchayat can be challenged only through an
election petition as provided by the legislature of the state

(1) aonly (@) bonly (3) aandb (4) neitheranorb

29,

YA TG R THEAT TEAT W @il el at erent/ e Rt <2 swran @ ¢
(1) 7 1000 (2) T 2500 (3) T 5000 (4) 7 FvETE T A
If a member of Parliament is found sitting in the other house of the Parliament, how
much maximum fine he/she may have to pay ?

(1) 7 1000 (2) 7 2500 (3) z 5000 (4) There is no such fine

30.

AU FHIvT e S TR 7

a) TERdWE, Jrggied STt 9 gl SMIdiEIST SR ST sTRd Wy wikerad)

b) fowfia sear Fraga steren Temrden qof srfere ot g A1t v Ieia e
EECIUGIE G

(1) & a (2) % b 3) afr b 4) a9 b e A

Which of the following statements are correct ?

a) For Panchayats, seats are reserved for the scheduled castes and scheduled tribes
but not for women.

b) A Panchayat elected after dissolution does not enjoy the full period but remains in
office for the remaining period only.

(1) aonly (2) bonly (3) aandb (4) neitheranorb
31. 3o AT FIeA1 IAHT AT <A A Ttferyaes i faw wrsae ?

(1) 163 ya= (2) 17 3 7% (3) 1873 T (4) 193 via®

In which century (A.D.) did Issac Newton put forth his three laws of motion ?

(1) 16thcentury (2) 17Mcentury  (3) 18Mcentury (4) 19t century
32. YHRIR SIfea a1 Y59 U TR B I HOTHT 1 TGO ¢

(1) TIH (2) uisfie (3) WH (4) Wi
Light exists as tiny particles which are called
(1) electrons (2) positrons (3} photons (4) protons

THood] HIATATE! TUTT/SPACE FOR ROUGH WORK
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33.

1945 &) soFHeter RO anfor FrmaTEl TR e sEtaEe v 31 399 (nuclear
fuel) aTHREt &1 ?

(1) =1 Rham (2). e et

(3) waa e (4) FiFem enfn wqeifEm

Which nuclear fuel was used in the two atom bombs dropped in Japan at Hiroshima
and Nagasaki in 1945 7

(1) only uranium (2) only plutonium
(3) only radium (4) uranium and plutonium 7
34. T Yealteat EiE STHI AIFA (0zone) TSRS ¥a&d (depletion) FTed™, Eiefiedh!
vt faferom=ht serrer 3iE (exposure) I@d ?
(1) 3Te FHEE EIwH (2) FHRE BN
(3) g faferor. (4) AEwHEeE e
The depletion of the ozone layer surrounding our earth increases our exposure to
(1) UV radiation (2) IR radiation
(3) Visible radiation (4) Microwave radiation
35. %= YT 38 /A (Curie) i @iefierishl Fivie frtelicar! warai=n iy amEen ?
(1) Faam (2) Hezw (3) urEm (4) weitRm
Which radioactive substance was discovered by the French Scientist Marie Curie ?
(1) Uranium (2) Radium (3) Thorium (4) Plutonium
36. oTYi® JeEhr wfawT ST (Medical Imaging) # @5 (CT Scan) vgdia Welierdshl shiv

Tarfertor ame S 7

(1) sem @R (2) @i () X (a)fafrm  (4) wwRa Tt
The method of CT scan used in modern medical imaging uses
(1) Alpha rays (2) Sound waves (3) X-rays (4) Microwaves

37.

gt feRom=n ImreTen St qeieeh! i faae ae e ?
1) A PerdadaE SO weTe ST
2} TTAT etV TEe

3) & fer e et
4) R FH FOMT TAH A FF I A6
(1) v 1 @ 193 3) 293 4) 294

For a satellite going around the earth, which of the following statements is not correct ?
1) Itis afreely falling body

2) It has no acceleration

3) It is moving with a constant speed

4) Work done by the force acting on it is zero
(1) only 1 (2) 1and 3 (3 2and3 (4) 2and 4

A
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38.

12 LT

T &Y FTeiea 3TH-V & Siqorerer i TRt v e e S ?

(1) <& (2) ramEia (3) WiwmaTsR  (4) SfiewRE

Which Indian scientific organisation developed the ICBM missile, Agni — V, recently
launched by India ?

(1) ISRO (20 DRDO (3} CSIR (4) BARC
39, whvIeT AT gt 6 (classical) sfiftehiqa smyfes siftehia WA (transition) @t ?
(1) TS = (2) . A w
(3) Twa. . 9pI (4) Hed s (Planck)
Whose theory brought in a transition from classical physics to modern physics ?
(1) Issac Newton (2) C.V.Raman
(3) H.d. Bhabha (4) Max Planck
40. Wit v T T Rigia wiea o g & saen gaETieRe S o ?
(1) Frtews @ A (3) Terforet (4) wETHE
Which scientist proposed the theory that the sun is at the centre of our solar system ?
(1) Copernicus (2) Newton (3) Galileo (4) Rutherford
41, wraWie Ufee HAUEST GIF 1963 AEd IWRA T, 1963 ¥ 2011 € FBTd WRA IHRWATT

STEAT TR AV Gar= (nuclear power plants) @@aT gaR fohdt 3 ?

(1) <& (2) 91\ (3) d=\ (4) =@

in India the first nuclear power plant was buili in 1963. The total number of nuclear
power plants built in India during 1963 — 2011 are about

(1) Ten (2) Twenty (3) Thirty (4) Forty

42,

s formtor o= ferege Sttt fordlt 2a9n forega St @19] Il B9 (nuclear power plants)
fato g 7 (YR <aRkard @) '

(1) g 50% (2) §OR 25% (3) R 13% (4) AR 3%

What percentage of World’s electricity is produced by nuclear power plants ?

(give approximate percentage)

(1) about 50% (2) about 25% (3) about 13% (4) about 3%

43.

AT el shivred ifaes IresTen e e e anfer faeem wa ' feamed|
TINYAT el Ao TS 2uaTd T ?

(1) d. =8, (2) me T

(3) A=ATE WAl (4) TH. TEIER

To which India-born physicist a Nobel Prize was awarded for his research related to

the structure and evolution of stars ?

(1) C.V.Raman (2) Amartya Sen

(3) Meghnad Saha (4) S. Chandrashekar

T HTATATS! AT /SPACE FOR ROUGH WORK
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44, S EFAS 97 WA 1984 TR WRAKS LRIEI TvEea Hifd Hedd ST wTe A1
o
(1) Terem amrg (2) &\ femnar
(3) T TN (4) wHEEq IRR
What is the name of the technical person who brought revolution in India’s
telecommunication system after 1984 ?
(1) Vikram Sarabhai - (2) Sam Pitroda
(3) Raja Ramanna (4) Madhavan Nair

45. 3iTA sfReee 1w fie §=dtT (Indian Institute of Remote Sensing) & €I v STI
T 9 SR 7
(1) ISRO (@ aGsi (3) DAE {4) CSIR
What is the Indian Institute of Remote Sensing part of ?
(1) ISRO (2) GSI (3) DAE (4 CSIR

46. STRAT 36 (ISRO) el v&fig Shoteam gde (INSAT) 7 @R SWIEH Gieicdeh! i
TN Fel! 318 7
(1) s argoft (2) TR T
(3) Tomar) e=vEesw F=on (4) erel o
What has the geostationary satellite INSAT put in orbit by ISRO India improved ?
(1} Geological survey (2) Highway systems
(3) Wireless Communication systems (4) River systems

47. VTRATT Ao WfrsTeiiet F9 ST @ITR Us SAVEEH (nuclear fuel) W@ oy R
HMTETEE ATasg §19Sd. T AR 1 FF AR 7
(1) gt (2) wuw (3) =i (4) e
India’s future plans for nuclear energy are based on a particular nuclear fuel which is
found in plenty in the monazite sands of India's seashore. What is the name of this
nuclear fuel ?
(1) Uranium (2) Thorium (3) Plutonium (4) Radium

48. St FAmior ot A A7Et Srera e €t T A AT T TohT FRTCEAT Forel FUTAL GHAT TR =T Foid
T BT YHIEEA AT shiorar g ang ?
(1) foe frm (2) ufeen fam @) wa fem (4) go fw
‘Energy can neither be created nor be destroyed. It may be converted from one form
to another. What law of thermodynamics is this ?
(1) Third law (2) First law (3) Zeroth law (4) Second law

HoodT HIATHTGT ATN/SPACE FOR ROUGH WORK P.T.0.
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49. T T TR Whel TNHM HIUGT AUEHIIE] GR@d J4a 7
(1) —40 (2) -100 (3) —32 (4 +273
At what temperatures on centigrade scale is represented by the same temperature
on Fahrenheit scale ?

(1) -40 (2) ~-100 (3) —32 (4) +273
50, SR YT IWMET feef! T @ aquEE w1 B ?
(1) odd g (2) wad FHt g
(3) for T8 ¥R (4) aved foha fOR T=d
If heat is supplied to a metal what happens to its temperatures ?
(1) always increases (2) always decreases
(3) may remain constant (4) increases or remains constant
51, aeqdl feham Toft T s =9 MievaTeTE wrelieish! SIvET e SAEEY ST ¢
(1) C-14 @ C-12 (3) C-13 (4) TTtehl uhel AT
Which of the following carbon isotopes is used to determine the age of plant or animal ?
(1) C-14 (2 C-12 (3) C-13 (4) None of these
52. 41 e oan ¢
A) oTee AT 1) WIAgeFIS Thee
B) 3. 2. wiafew 2) HRFARM
C) . il 3) 3w IR ATH TR

1y A~-1B-3C-~2
2 A-2B-1C-3
3) A-3B-1C-2
4 A-1B-2 C-3
Match the following :

A) Albert Einstein 1} Photoelectric effect
B) E.O. Lawrence 2) Cyclotron
C) de Broglie 3) Wave nature of electrons

(1) A—-1B-3C-2
2) A~2B-1C-3
3) A-3B-1C-2
4) A-1B-2C-3

53, TR gaa U YT 19 AT Qe ierih! sHivrd) Teft st 71 ?
(1) ™ (2) FeERE (3) TRETEr 4) =
When a wave continues to propagate in still air, which of the following quantities
decreases 7
(1) Amplitude (2) Period (3) Frequency (4) Speed

HFT FTHTATSE AWM /SPACE FOR ROUGH WORK
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54. TFA-ATHATSI-SHGH-HTI-TEE Il ITATRIY H1d FEUTa ?
(1) Teeei i (2) TEdmEs afEe
(3) Fft lreen (4) g ufEwen
What is Grass-Grasshopper-Frog-Snake-Eagle, foodchain called ?
(1) Marshy Ecosystem (2) Grassland Ecosystem
(3) Agro Ecosystem (4) Forest Ecosystem
55. ESEIHEAE IR & R,
(1) FRe A 2) Ue A=A
(3) = (4) wea ©e
The purest form of iron is
(1) Castiron (2) Wrought iron
(3) Steel (4) Stainless Steel
56. Wrefieeh! Hv urq il w@a 9 1 R sTesar ¢
(1) Mg, Ca (2) Ni, Zn (3) Fe, Al (4) Pt,Au
Which of the following metals occur in free and native state ?
(1) Mg, Ca (2) Ni, Zn (3) Fe, Al (4) Pt, Au
57. SURHS TS AT U T e
(1) s/t (As) forwamen (2) wefirm (Cd) fowamen
(3) f&= (Pb) fawemen (4) " (Hg) forsmen
Minamata disease found in Japan was due to
(1) As poisoning (2) Cd poisoning
(3) Pb poisoning (4) Hg poisoning
58, iUkl v /v fAum /3 T 3R / 4

1) Teeet & HeRd STTHYY I 3718,

2) HEhg 7 ] ST ot T ARl Sl 31y Tieh.

3) fenrfm so1 T snenvw g wfitendo st o7 wrral.

4) &S T  Herd TRy S Q.
(1) &= 4 (2) 293 (I 193 (4) 29 4
Which of the following statements is/are correct ?

1) Gravitational force is a force of attraction only.

2) Nuclear force can be attractive or repulsive.

3) Electrostatic force can be attractive or repulsive.

4) Gravitational force is a force of repulsion only

(1) Only 4 (@ 2and3 (3) 1and3

(4) 2and 4

T RIATHATE! AT/ SPACE FOR ROUGH WORK
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59. Uz GUEI Ta=1 WR fRcht gt ?

(1) 76 ¥4, (2) 29.9%9
(3) 1013.2 fieflem (4) sl wd
What is the atmospheric pressure at sea level ?
(1) 76cm (2) 29.9 inch
(3) 1013.2 millibar (4) all the above
60. Wrelieehl v AT sfifvsreEm Fiad niees fiem T ?
(1) e sn (2) TR
(3) TR F| (4) = =, W
Which of the following scientists was not awarded Noble prize in Physics ?
(1) Niel Bohr (2) Einstein
(3) Jagdishchandra Bose (4) C.V.Raman
61. frwe=n Fre e Fatdme Fioc s 3 ar A o R ?
(1) 99 ™ (2) ¥ 9=
(3) =T ! (4) T I F WA
In the recent past the export of which commaodities have sharply risen ?
(1} Sugar and cotton (2) Gold and silver
(3) Tea and coffee (4) Electronic goods and software
62. WI. TR TfiEen RrereigR gavlsrd 7m TSR JieAa TTeliensh] ST SREAET R
hell AT ?
(1) il T faerma wEem
(2) wrE Ao Fries

(3) TN =TT AT

(4) zwae fafed G

As per the recommendations of Prof. Hashmi Committee which of the following
programmes was not included in Swarna Jayanti Gram Rojgar Yojana ?

(1) Integrated Rural Development Programme

(2) Bharat Nirman Programme

(3) Ganga's Welfare Plan

(4) Million Wells Plan

63. TG L SRR hIVIT L UGl ST hefl STl ?
(1) w9orefiR X (Proportional taxes) (2) T T (Progressive taxes)

(3) wfeamft =T (Regressive taxes) (4) 3P T (Degressive taxes)
Which tax system is used for levying taxes in India ?

(1) Proportional taxes (2) Progressive taxes

(3) Regressive taxes (4) Degressive taxes

TS FINTETS! AT /SPACE FOR ROUGH WORK
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64.

fasiw = (special taxes) @icficieh! ST AT ST 7
(1) T AHRR

(2) AT TR

(3) e U1 A St

(4) T AHR T ISHET

Special tax is levied on which one of the following ?
(1) On volume of commodity

(2) On weight of commodity

(3} On features and quality of commodity
(4) On volume and weight of commodity

GTEI~S ITGHHTEAT STREIVITET Gl Tedeh IVl T YR ATET ¢

(1) TRt fasmm= ke (2) WA AU HEHEe™ AhET

(3) FESI TS 3ThETTT (4) TR THETS AT

Which of the following is not a type of Audit of Public Enterprises ?

(1) Government Department Audit (2) Government Statutory Corporations Audit
(3) Co-operative Societies Audit (4) Government Companies Audit

T RIS Yaeh fShua ST (Agricultural Prices Commission) Y@ 3feses sl o1 ?
(1) awdre frma e

(2) wwfa g @

(3) WawaH. 192

(4) et o T

What is the basic objective of the Agricultural Prices Commission ?

(1) Balanced Price Structure

(2) Integrated Price Structure

(3) Options 1 and 2 above
(4) None of the above

67.

I GURUIRR FRMed - i S w@ dfmest Siord gt ?

(1) T oA sog 9 et Seare

(2) T ARTE-Fata 9w 9 ST SRR e gEgin

(3) Tl & T YT

(4) SOTH Hivme A

What were the main features of the Impont-Export Policy during post-reform period ?
(1) Saving foreign exchange and domestic production

(2) Free Import-Export Policy and Rationalisation of Tariff structure thereof

(3) Self-reliance and import substitution

(4) None of the above

HEET HIATATE AT/ SPACE FOR ROUGH WORK P.T.O.
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68. 1991 T 2004 A1 FHIBTT WA AT THAHE! HIVIT sget FIe ?
(1) 2, T 9 AY[E AT AT HATOT Tt
(2) TR, U, Qe STE! e TR aTeet
(3) oG & TARRAT ARG 92
(4) et Htomard) et
What was the change in composition of India’s import from 1991 to 2004 ?
(1) Fallin import demand of petrol, lubricant and oil
(2) Rise in import of edible oil, pulses, sugar etc.
(3) Fall in the import of iron and steel
{4) None of the above

69. W@reiiciieh! HIvial F5e g1 WRAH fader e fevdte e ?
(1) YR g AR §ereaT HHEt arel
(2) UM MU ITERTAT 7T ARSIl WA= IR He
(3) anfIEng 3 anfleeh) 2ymeh wrar=n W =RE 98
(4) <iEE 7 daR STEwmLHE ue
Which of the following is not the change in India’s Direction of foreign trade ?
(1) Low share of England in Indian Foreign Trade
(2) Fallin India’s trade with countries like Japan and Australia
(3) Rise in India’s foreign trade with Asian and African countries
{(4) Fallin import of iron and steel

70. @Ielieeh) SV T Tl widl 3@ gelye I ?

(1) rEREET 9ro (2) = 3ivenfie g
(3) 7a F ewor (4) T ¥F GRw
Which among the following is termed as ‘Rainbow Revolution’ ?
(1) Population Policy (2) New Industrial Policy
(3) New Agricultural Policy (4) New Banking Policy
71, STheIVl 9 HouTehTel WHE Wielierdehl Hivrer Sameht fFrfea amg ¢
(1) Qrerft ST Senm (2) T gaTdia sem
(3) HYH & (4) Tl &
Auditing and Evaluation problem is related to which sector among the following ?
(1) tndustries in the Private Sector (2) Industries in the Public Sector
(3) Joint Sector (4) Tertiary Sector

T HTAETE AFT/SPACE FOR ROUGH WORK
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72. w{ 2008-09 "tfiet 3avieran e Fewmrrde dig are e SR s g ?
(1) Y= qEeaE e
@) TR wag JeavEhe Fog ue
(3) TR, g I ST} ATATEAT AT AT i e
(4) IeureAT=T AL FUren
What was the reason for the sharp increase in Consumer Price Index (CPI) in
2008-09 ?
(1) Decline in money supply
(2) Rapid fall in Foreign Direct Investment

(3) Sharp increase in the prices of foodgrains like wheat, rice and pulses
(4) Improvement in techniques of production

73. W Rivd (2002-07) TRmE-Taia g afires T ?
(1) Ff Fafdatis e st
(2) 3TN F FHERSEM i S
(3) 3T yaiefieo
(4) Tasiy anfelss s fawm
Which among the following is not a feature of (2002-07) Impont-Export Policy ?
(1) Removal of restriction on agricultural exports
{2) Promotion of exports by small scale and cottage industries

(3) Import substitution
(4) Development of Special Economic Zone

74. TR HIV WA SARTd QSIS e & ?
(1) <wTdie sieht 9 3 forli Heemhed Baea &l
(2) fom fsht
(3) wirss fraig A
(4) sTawrd Aewgd daeie S
Which among the following is not the source of internal public debt ?
(1) Loans from Banks and other Financial Institutions
(2) Insurance Fund

(3) Provident Fund
(4) Loans from International Monetary Fund

75. 1991 =f Tefiew uftrdt swemeft gefta g ?

(1) fE= T (2) e Fafs grm
(3) =i fefim sgaeen (4) SRR
What was the Narasimhan Committee 1991 related to ?
(1) Poverty (2) Import Export Policy
(3) Financial System of Bank (4) Unemployment
HooT HINTHTS! AT/ SPACE FOR ROUGH WORK P.T.O.
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76. WETTS fHaavnd ATUUETETE) ETeliciish! FIvaT QIRFTET 19T T SR 7

(1) W dwona sea ' (2) ammE HUR
(3) wredsifer faator sEeen (4) b
Which of the following measures is used for controlling inflation ?
(1) Changing monetary policy (2) Reducing import duty
(3) Public distribution system (4) All above
77. ¥ 0N o FIv B 7
(1) 1974-75 (2) 2001-02 (3} 2009-10 (4) 2010-11
Which was the year of hyper inflation ?
(1) 1974-75 (2) 2001-02 (3) 2009-10 (4) 2010-11

78. @ fdwi® (Food Index) Hrsivarame} Hvian Iemeial THidd el o 7
(1) i @ awg A ScneTaesdle IdE g gare
(2) rfeeh @ g At g
(3) ScureA TEAdIet IeAEIa WrergaTe, 7T 3T diges
(4) TR, T, dige AT wuR
Which products are considered to deduce the Food Index ?
(1) Primary food articles and manufactured food products
(2) Primary food articles and clothes
(3) Manufactured food products, wheat and rice
(4) Sugar, wheat, rice and clothes

79. GrelEe! Hore faesdt SR S 2009-2014 2 3fere Tw@) ?
(1) Fafden e #e gHaeer Ao
(2) =fier 15 2% Frafa gt @ =
(3) WTaT=N ST ST fEeE 2020 wid gwe w
(4) = I TR ST ded
Which of the following is not an objective of Foreign Trade Policy 2009-2014 ?
(1) To reverse the declining trend of export trade
(2) To achieve an annual export growth of 15 percent
(3) To double India’s share in global trade by 2020
(4) Toincrease imports of luxury consumer goods

80. TRTa-FRIia vXerre STedie G I Rl ok

1) Fraiaere tohg a et srdadt - gem

2) fraiaer aur St form weaor gEo

Tt Hivr 3. @i, a3 fsea o 7
(1) e 1 (2) = 2 (3 192 (4) HwRL T

In the context of India’s import, export agencies, consider the following :

1) Providing insurance cover to exporters against political and commercial risk

2) Providing insurance cover to exporters against marine risk.

Which of the above is/are objectives of ECGC ?

(1} Only1 (2) Only 2 (3) Both1and2 (4) None of the above

HEAT RIS ANT/SPACE FOR ROUGH WORK
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81. WRHHR YRar=AT ARl s Hewia Erelierdsh! v SeT=a e Wi gattees i wal ?
(1) anzE.. (2) AH
(3) $= (4) Reesia 2n
In the post independence period to which group of countries have India’s exports
risen ?
(1) OECD (2) OPEC
(3) Eastern Europe (4) Developing Nations
82. WA, 1999 © 3fewa w7
(1) Toeft wiewin wey (2) 3w e
(3) e ad TaEvEE ey (4) sferiq =R 9 <7 T 9
What does FEMA, 1999 aim at ?
(1) Prohibiting Foreign Tourists (2) Controlling imports
(3) Prohibiting NRI investment (4) Facilitating external trade and payment
83. enTen USZRisRuTTeT Sfesei=an Tevia JEiaitehl HIvid A1ed /vt JE sRIs TR 7
1) srearear TR e,
2) rdt, weRem g Fatdd gan swten gw@ar.
3) WIS T [aavph i AISHG O,
(1 132 (2 233 (3 193 (4) w1
With reference to the objective of nationalisation of banks, which of the following
statements is/are correct ?
1) Removal of control by few.
2) Provision of adequate credit to agriculture small industries and exports.
3) Discouraging private sector investment.
(1) 1and2 (2) 2and3 (3) tand3 (4) Only 1
84. VIR UTHIOT Sehiil ATl TS hIvRf ?
(1) agei=n g (2) TGosean YTEEAAEN I
(3) TTEeRTEl TfTIaTaT (4) =190 FHEAT i
What is the major problem of Regional Rural Banks ?
(1) Problem of Recovery (2) Problem of Working Capital
(3) Problem of illiteracy of customers  (4) Problem of shortage of staff
Hoeq] HIMTHTE! SIFTT/SPACE FOR ROUGH WORK P.T.O.
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85. TEred demewia @efia yartan fosm .

1) Ftes

2) w3

3) SiUEH &

4) NPk F

TR SHIVIA & WU g aq 7

(1) % 1 (2) 132 (3) 394 4) 1,294
In the context of RBI, consider the following :

1) Agriculture

2) Small Enterprizes

3) Construction

4) Education Loan

Which of the above areas is included in priority sector lending ?

(1) Only 1 (2) 1and2 (8) 3and4 (4) 1,2and4

R O

86. =T YRR, e ffay sramfis Shmel vm IRy AT IUFHAE T TEUE

(1) T farsmran faesrren Hefora FREE
(2) 3Tl s A
(3) e USRI
(4) a1 & gERA

What is the allotment of districts to various commercial banks for the purpose of rapid

branch expansion called as ?

(1) Integrated Rural Development Programme
(2) Lead Bank Scheme

(3) Nationalisation of Commercial Banks

(4) Service Area Approach

87. TG seT= fHET v IS A & F1 IR 7

(1) e st geq g (2) TaFTE e Yadrd wel
(3) Yaw=aEE! fiehran o (4) TarEE O gadiD F
What is the purpose of Kisan Credit Scheme of Indian Banks ?

(1) Micro-credit to poor people (2) Short-term loan to farmers
(8) Crop insurance to farmers (4) Long term loan to farmers

HooHT WIRTHTE! ANT/SPACE FOR ROUGH WORK
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88. Wreliciieh] shvreh TR eramieoeh 3fesesr aned ?

1) a9 e Taiad R awe el o o .

2) @ w1 e e A A e,

3) Wuld 37 AW oI el AR § UTEu 7

4) @I FfieRer Tl IR o T I,

(1) 1a2 (2 293 (3) 1,233 (4) wla wd
What is/are the objectives of government audit ?

1) There is a provision of funds for the expenditure duly authorised by the competent

authority.

2) The expenditure is in accordance with a sanction properly accorded.

3) Payment has been made to a proper person ?7

4) Charge is correctly classified.
(1) 1tand2 (2) 2and 3 (3) 1,2and 3 (4} Al the above

89. TR qaleh AT TG Weleiich! HIVI T THIETE ST GETa TR ?
(1) aTuRg ghaemen wm
(2) e anftn ST T WS THTOTE JAav
(3) Faffid & gas JaavE
(4) =fe wd

Which of the following in the context of 111 five year plan is consistent with the strategy
of inclusive growth ?

(1) Infrastructure development

(2) A big scale increase in education and health allocations
(3) Huge investment in power generation

(4) All the above

90. AR TIeHPEIT=AT HeHTd Wiefiel T2t fe .

1) e yefta fhmedt

2) e aeT fhHe

3) IR ARG TR

4) AT FOAH A I8

TGS B Heeiedl Feishl Faed1 ThHAT TIET SHEE AR 7

(1) 293 (2) 1, 2 snfur 3 (3) 1 atfor 4 (4) =0Ga ad

In the context of inflation in India, consider the following :

1) Rising administered prices

2) Rising oil prices

3) Pressure of growing population

4) Increase in indirect taxation.

In which of the above factors, Indian Govemment is responsible for inflationary tendencies ?
(1) 2and 3 (2) 1,2and 3 (3) 1and4 (4) All the above

TeodT HIHTETE AN/ SPACE FOR ROUGH WORK _ P.T.O.
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91. 6% &0 FH ITR SO FTHHHRET AT TR =Y Hi 1 9T ¢
(1) @@ Ty (2) Twad g
(3) @t a1y (4) SfasF g
What is the type of bunding recommended for lands with slope < 6% ?
(1) Graded bunding (2) Contour bunding
(3) Compartmental bunding (4) Live bunding
92, S IV FTOT ATRNEIET b a1g 7
(1) F Gt (2) F W (3) ¥ =l (4) F agm
Which variety of sorghum is specially recommended for popping purpose ?
(1) Phule Revati (2) Phule Uttara  (3) Phule Panchmi(4) Phule Vasudha
93. TRV ferariie afis &% 3 TR AFESHRAT IUETsY ST 85 I TUIRR, o Tharived The
et SR AT HE Gared 7
(1) e g s 2 wgde digar
(3) wTTErE IuAfiTen P (4) oo~ T g
The ratio of total area cropped in a year to the total land area available for cultivation
and expressed in percentage is called as
(1) Crop intensity index (2) Muiltiple cropping intensity
(3) Cultivated utilization index (4) Sustainable yield index
94, AT TV ifern SR et eedier st frfarg o Twe g snda 7
(1) 108 oA B (2) 158 =YY BFR
(3) 188 T BFX (4) 218 <TAY }FR
Out of the total geographical area of India, how much land comes under different
kinds of land degradation ?
(1) 108 mha (2) 158 mha
(3) 188 mha (4) 218 mha
95. T qwft f¥raveran 3 Tt sreeama ten S qUR A uedin v westv A 7
(1) 4 . ./ a= dan (2) 5-10 . . /am
(3) 10-15T. #./ 9= (4) 15-—20 f4. =, /om0
Sprinkler irrigation is not suitable for soil with the infiltration rate
(1) Lessthan4 mm/h (2) 5—10mm/h
(3) 10-15mm/h (4) 15-20mm/h
96. T T fUeElier st a1 T qurs R fish FTEvie Hiv quHETTe a7
(1) vEEie (2) TARIEH (3) AR (4) WSS

Which post-emergence herbicide is used for controlling parasitic cuscutta weed in
lucern crop ?
(1) Paraquat (2) Chlorpropham (3) Alachlor (4) Pronamide

HoedT HIHTHTE! AHTT/SPACE FOR ROUGH WORK
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97. UE® &F s 9% aeie wreEda gotas fale saren amden s w7
(1) wuigy e (2) Tofe Frerers
(3) qoHTHS Uieh ardrEn & (4) T FrEEn &t

What is the measure of ability of the crop to produce leaf area on unit area of land
throughout its life ?

(1) Leaf area index (2) Leaf area duration
(3) Relative growth rate (4) Crop growth rate
98, IV HTET TIT=AT TSSHTISAES 3 TR 371 7
(1) Ug (2) ween (3) fE&mm (4) T
Which fish is a surface food eater in water bodies ?
(1) Rohu (2) Katla (3) Prawn (4) Shark
99, e gy AIAEl USLE § & syt et a1 ¢
(1) g9 gida wifg [WeA (2) Fieede wige A oA
(3) I wide wE T (4) Fcede Qi S| TN
What does USLE stand for in the soil loss estimation ?
(1) Unique soil loss erosion (2) Universal soil loss erosion
(3) Unique soil loss equation (4) Universal soil loss equation

100. TSream=m SR e S garvaEE g ?
(1) = sifer (2) <raur A (3) @Rae SFT  (4) IR ST

For reclamation of which soils gypsum is used ?

(1} Acid soils (2) Sodic soils (3) Saline soils (4) None of these
101. ‘A’ 2 Hven T iefid vad g wWEy AR 7
(1) fome (2) waw f&=m
(3) fem uga (4) I ATE
‘Raingun’ is a modified form of which irrigation system ?
(1} Drip system (2) Sprinkler system
(3) Basin method {(4) None of these
102. d= wrardier S ot ?
(1) vy (2) IR B (3) =& (4) SN
Which one of the following is an indigenous breed of sheep ?
(1) Pashmina (2) Kashmir Merino (3) Chequ (4) Angola
103. ‘SEHE € ST F 10T SR AR 7
(1) T (2) T (3) =HU (4) Fh wroreTE AT
‘Usmanabady’ is a breed of which animal ?
(1) Cow (2) Sheep (8) Goat (4) None of these
THoedT HIATATS! T/ SPACE FOR ROUGH WORK P.T.O.
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104, ‘TR diss FIEE W S ?
(1) wsharen )
(3) e dis o (4) TG gatard)
What for is a cowpea crop grown ?
(1) Vegetable (2) Fodder
(8) Green manuring (4) All the above
105. T HIET ‘Hewrerdt’ wie SugEd AR 7
(1) W& (2) siahH (3) faeaxfem (4) Teefhn
Which fish is suitable for fish farming ?
(1) Rohu (2) Dolphin (3) Silverfish (4) Goldfish
106. TEO TRAF WRATS HIVIT TG GE ATt 7
(1) wwarn @ 9w _(2) WG gfdur s
(3) TGS I 91 (4) IR v T
Where has the second green revolution started in India ?
(1) Eastemn India (2) Southern India
(3) North India (4) None of these
107. FH fam g g TR a5 Al F=Eed TNvr=AT WiEen wE e ?
(1) foransfier sy (2) I WY
(3) T 9R W (4) TR o
Absorption of nutrients from lowly concentrated soil solution compared to plant sap is
called as
(1) Active absorption (2) Passive absorption
(38) Negative absorption (4) Positive absorption
108. Ut sgEEeATE et whiferta woar sfida Svm s, Few, STuRe e 3E SgEa

HISIIT 37 ST ? ~

(1) Fhlegiet (2) IRaHiR (3) gEEHRT (4) TR

A device to measure the percolation, leaching and retention of soil moisture under
controlled conditions is known as

(1) Infiltrometer (2) Evaporimeter (3) Psycrometer (4) Lysimeter

109.

S SUeTed STIeTET 9 ITleEsH JTeATe aHaTe faSeaT]e AU R %1 RIaTd ¢
(1) SR g (2) A GRS

(3) Ft g (4) T GRS

The soil moisture stress caused due to imbalance between available soil moisture
and evapotranspiration of crop is termed as

(1) Meteorological drought (2) Hydrological drought

(3) Agricultural drought (4) Permanent drought

oo HIETS! AT /SPACE FOR ‘ROUGH WORK



AP 27 PRM
110. ‘mymel uer’ S R Tt TR 7

(1) Ferih S fRfyga s IR (2) HUHII SR 3R
(3) quram fush S &R (4) FrET e
Where is ‘Apiculture’ more successful ?
(1) Floral biodiversity is high (2) Honeybees are more
(3) Cereal crops are more (4) None of these
111, STRAT= g WA ‘I-geen iR | geam et shefl ?
(1) AR ScTed It (2) U FrEvaEe
(3) TEA (T@R) TUvHTETE! (4) asht AT
What for has the Government of India launched the ‘National Food Security Mission’ ?
(1) Increasing oilseed production - (2) Increasing foodgrain production
(3) Construction of Godowns (4) None of these
112, FuRoY fenh snymeg g wei owa ?
(1) STSIRTETIET ST T8 (2) TSRS S A
(3) TSTHMENEGE 3 (4) =it T
How is the Minimum Support Price (MSP) generally fixed ?
(1) More than market price (2) Lower than market price
(3) Equal to market price (4) None of these

113. TSR HIVET 6 T g1 G G TRV AT 85% TaehT SATTAT TR 7
(1) Werehrr (2) HiEhRR (3) emreEERR (4) IrATERRR
Amongst the atmospheric layers which is the most dense that occupies 85% of the
atmosphere ?

(1) Stratosphere (2) Mesosphere  (3) Thermosphere (4) Troposhere
114, gied T Flved| SHETHS ATEsdl 7

(1) B9 (2) W (3) T (4) afe wd

In which animal is Pox disease found ?

(1) Buffalo (2) Goat (3) Sheep (4) All the above
115. TEicieh! HivedT SN Ther fersor S B ?

(1) Tererenila (2) ATl (3) &g (4) TradigeE

Which of the following soils fixes more phosphates ?

(1) Alkaline (2) Acidic (3) Saline (4) Calcareous
116. U STIEATT ToaTe I @ FH 3R 7

(1) FdwH s (2) IiHH A EH

(3) TRIHR SRHFHEHY (4) dH ERURTRH

What is the scientific name of bread wheat ?

(1) Triticum durum (2) Triticum aestivum

(3) Triticum dicocum (4) Triticum spherococum

Hoed] HIATHIST ATTT/SPACE FOR ROUGH WORK P.T.O.
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117. Sfrfiwe) anfl Sivren FER 9o w6 aEfa s 7
(1) T (2) I
(3) ATEHTTH (4) AR T
What is the energy with which water is heid by the soil called ?
(1) Gravitational potential (2) Capillary potential
{(3) Osmotic potential (4) Pressure potential
118. SO A3 GATT A= W] SR S 7 .
(1) SrorEd (2) fad ey (3) HI (4) =i FR
Which organic manure has high nitrogen content ?
(1) FYM (2) Neem cake (3) Compost (4) Vermicompost
119.  ZARKEAT FIT T el TT Aay 7
(1) FEHA (2) AR (3) &M (4) el
What gives red colour to tomatoes ?
(1) Curcumin (2) Lycopen (3) Coffein (4) Lecithin
120. ‘@ ¥’ g& HArardt Fivd F18 IuR N 7
(1) vearht e (@) IrEzR (3) 1 znufor2 (4) Ty ATE
Which trees are usetul for Lac-culture ?
(1) Palas trees (2) Bertrees (3) 1Tand 2 (4) None of these
121, AR BHRD AT, Wifedl (STEN) T Iedfs Iie THraae di TN seiater S gagen
T TRUTT ¢
(1) Uit (2) 2G (3) 3G (4) FRE 42
Name the facility by which voice, data and video clips are speedily transferred in the
mobile phone ?
(1) Portability (2) 2G (3) 3G (4) Fastnet
122, THET=N G wiven safe $EaeR feren o = wgwls g ?
(1) &= (2) g (3) @ 4) P
Which of the following organs of the human body is affected by Hepatitis ‘B’ ?
(1) Heart (2) Brain {3) Liver {4) Lungs
123. fifem Ao avrehiften vafia S arem Qaume S YEd oTE 7
(1) SHeea zaa (2) Taqd T
(3) SHHIEEd SHHER (4) sHEET g
What kind of missile is “Brahmos” which was launched successtully from Odisha ?
(1) Surface to air missile (2) Air to air missile
(8) Surface to surface missile (4} Surface to water missile

HEq! HHTATE! AT/ SPACE FOR ROUGH WORK
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124. YR fgd 969 Tefiets Torad s wr S 7
(1) STRA TEHRET H gt AR v w1
(2) enreh ek TRV HTI FO!
(3) X ATHT=AT SJTEUARTAT HfGH T 0T TEF HI
(@) Frfear foxfim e S am w0
Which of the following is one of the core functions of the Reserve Bank of India ?
(1) To act as tax collector for the Govt. of India
(2) Work as Banker to the Banks
(3) Help in finalization of the Union Budget
(4) Participate in the various meetings of financial institutions

125. T 2022 wfa 3w et Feret T TR FOITH IS TR YaWEE SR a1 STrEet
AR 7
(1) 500 TIra (2) 1,000 @& (3) 5,000 swieial  (4) IOehT A
The Prime Minister of India Dr. Manmohan Singh has planned to develop how much
skilled manpower by 2022 ?
(1) 500 million (2) 1,000 million (3} 5,000 milion (4) None of these

126. HEWIS WEAM 2011 WEA FHeted] NEHE GURUGER G M) Faum sigem s fdt =n

g 4t v I@al ?
(1) aedieer fFan e TedieEr (2) e B srfterd
(3) TmREh (4) TSt

According to administrative reforms made by the Govt. of Maharashtra in 2011, who
is the secretary of ‘Sanjay Gandhi Niradhar Anudan Yojana Samiti’ ?

(1) Tahasildar or Nayab Tahasildar (2) Block Development Officer

(3) Gramsevak (4) Talathi

127. §9 2011-12 953 AR HIIET S5 g et zet ?
(1) 80 wr™ T (2) 85 ar@ Mt (3) ow@E MRl  (4) 95 T@ AL
Approximately how much cotton was produced in Maharashtra during 2011-12 7
(1) 80lac.bales (2) 85lac.bales (3) 90lac. bales (4) 95 lac. bales

128. e feawrgE swagian &1 oHny SevkaeT Reraw 30 TevE e sd Tttt Hioear
QTR ARITErTHe Feft Tedt 7
(1) emfE (2) st (3) hEn (4) %I
In which country a writ petition demanding ban on the Bhagwad Geeta for preaching
terrorism was recently filed in the court of law 7
(1} America (2) Germany (3) Russia (4) France

HTIT KT S/ SPACE FOR ROUGH WORK P.T.O.
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129.

30 TR 0

SR 2011 WEll G T=AT AR HIVET TR IR S et ¢
(1) sty e 2) o
(3) THER fim (4) orE gt

Name the Indian leader who addressed the UN General Assembly in September
2011 ?

(1) Sonia Gandhi (2) Meira Kumar
(3) Manmohan Singh (4) Pranab Mukherjee
130. “HIEATH ATH T T 2011 [ERR HIVTEAT T AT 7
(1) YE ST (2) = e
(3) Tt geroll (4) guN JvHE
Who is the recipient of the ‘Photographer of the Year 2011 Award ?
(1) Shankarrao Borkar (2) Baiju Patil
(3) Hemanti Kulkarni (4) Subhash Deshmukh
131,  SRM GEW A STdier gatg sing Wit vy 7
(1) =& FRR (2) oo ggmRR
(3) Al R (4) =i fore
Who is the richest Asian Woman from our country ?
(1) Chanda Kochar {2) Kiran Muzumdar
(3) Ekta Kapoor (4) Savitri Jindal
132. 5 e 2011 Ut vt e afimd 23 oz 9= Fr=n v adf @e7 29 Fum = ?
(1) 90 (2) 88 (3) 98 (4) 87
At what age did the legendary film actor Dev-Anand pass away on 5% Dec. 2011 in
London ?
(1) 90 (2) 88 (3) 98 (4) 87
133. 2wmwie [afaw st RBI #gd IHFAR Yaacdl @Hat RBI S 191 31Teh T 7916l 61 WU ¢
(1) 99 9 R (2) W E
3) fegd W @) vEE = R
What is the interest charged by the RBI on the money borrowed from it by the various
banks called ?
(1) Directinterest rate (2) Repo rate
(3) Reverse repo rate (4) Indirect interest rate
134, MR FRETE QU7 HEA BT NI ATH T 7% FNi=at 15 fedfaw 2012 Tsft vt g ?

(1) JIwmUiam (2) 3w Hifan (3) ™ 4) T

From which country after completing the mission did the USA withdraw its military
forces after 9 years on 15" Dec. 2012 ?

(1) Afghanistan (2) South Korea (3) Vietnam (4) Iraq

AT SRS ATT/SPACE FOR ROUGH WORK
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135. 9d ST LU FHIVT Tehd TASTAT 521 TTaSA] ?

(1) wfarmdt. s _ (@ =
(3) srfammft. g (4) OREEHH
Which website was banned by the Indian Government ?
(1) Savitabhabhi.com (2) Hindu.com
(3) Anitabhabhi.com (4) Cyber.com
136. AT Hald < YT HIUIRA I 7
(1) (@ Ff=0 (3) [V (4) o
Which is India’s longest range missile 7
(1) Nirbhay (2) Agnili (3) AgniV (4) Shaurya
137. TIcliceht il et AT THTETEIE AT FaTetelte 6% JEanttE] aHel @ 7
(1) < =T (2) TR gEREH
(3) S A (4) uaérrra‘lw@na

Who among the following is not a recipient of the Jawaharlal Nehru Award for
International understanding ?

{1} Barack Obama , (2) Hosni Mubarak

(3) Angela Merkel (4) Robert Gabriel Mugabe

138. TR 2012 weat SERRT A% T RIS T I FIe AR 7
(1) TYsaes HATS=qT Vsl 39 ol
(2) THEAES I UFSl! TS THA
(3) [T HHY SR Bl
(4) Sttt aw
Why did the earthquake that hit Indonesia in April 2012 uid not trigger a tsunami ?
(1) the sea floor moved vertically instead of horizontally
(2) the sea floor moved horizontally instead of vertically
(3) the earthquake was of a low intensity
(4) none of the above

139. TRIPS 3 TRIMS I1 |7 shivret a=orsht Frfea amea ?

(1) WTO (2) IBRD (3) IMF (4y ADB
With what are the terms TRIPS and TRIMS associated ?
(1) WTO (2) IBRD (3) IMF (4) ADB
140. i A Tyt FOT=AT e =) e anda Saerer wam e faer TR Ateae.
ASIF IR [T AR 7
(1) S aTor FHfER (2) FAETEE Ve
3) R (4) femme W

India lodged a formal complaint with China after its soldiers objected to a road that
was being constructed in Demchok. Demchok is in which state ?

(1) Jammu and Kashmir (2) Arunachal Pradesh
(3) Sikkim (4) Himachal Pradesh
FHeedl HIHTETE! AT/ SPACE FOR ROUGH WORK P.T.O.
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141.

32 AR O

“TaEt T R AR 7

(1) STErhRFEE WA R F9MYA 7 3R

(2) AT T AFHET FISHT

(3) IWrES A EEwH v WrafEre e o e g
(4) TN I Wi

What is ‘Sparsh Ganga’ 7

(1) India’s second permanent research station in Antarctica
(2) India’s new space programme

(3) A bock written by former Uttarakhand Chief Minister Ramesh Pokhriyal Nishant
(4) Clean Ganga project

142,

TTh! ShiuTel] RIS Tt 1919 7 TS HET=n W@ 90T R yefia et 7 R 1969 1) Aea
wiTaa wiEie feae 7

(1) ©Ta S gee

(2) g i gue

(3) T Tg Sreglreh, AWTIF T WiEHlop Toe

(4) fava ey gy

Which of the following specialised agencies was established in 1919 as an autonomous

part of the League of Nations that won the Nobel Peace Prize in 1969 7

(1) Food and Agriculture Organisation

(2) International Labour Organisation

(3) United Nations Educational, Scientific and Cultural Organisation
(4) World Health Organisation

143.

yitrg w3 sy Zmi g @1 e Tl s wed IR 39 STeTel WTT W sTeven
e AR UNESCO =41 hivTedT ST S@EEd HG0 sierd a7

(1) o= fveen, faeeht (2) @gt@, FWE

(3) T VR, T (4) 9w, Fom

The legendary poet Rabindranath Tagore described this place by saying. “Here the

language of stone surpasses the language of man”. Which UNESCO heritage site
are we talking about ?

(1) Red Fort, Delhi (2) Khajuraho, Chhatarpur

(3) TajMahal, Agra (4) Sun Temple, Konark
144. A U TSER ? el W IRt a7

(1) wf& I (2) Wl T

(3) FAR Tgd (4) o= e

How is Narayan Shripad Rajhans better known as ?

(1) Poet Grace (2) Bal Gandharva

(3) Kumar Gandharva (4) Chhota Gandharva

HEAT HIATATS FAETT/SPACE FOR ROUGH WORK



145. TR 2010 79 URen ‘W’ FHIE (7824 7431 7884) W ATt mawdie wigeren aH
FHOGT STTAT 1 T UTeT T Ueare) AR ¢

(1) saETE (2) srREs

33

(3)

PRM

A (4) WL

In September 2010, the first Adhaar number (7824 7431 7884) was alloted to a lady
who lives in a tribal village, to what state does the iady belong ?

(1) Chhatisgarh  (2) Jharkhand (3) Odisha (4) Maharashtra
146. G STHRCY T Tor=AT I SiSe aaT ;

| il
(3TIRR) (1)

i} ST ERYE a) ufeem s

i) G AR b) AE™

jii) IR SR c) IS

iv) WY TR d) IR AT IR
i ii iii iv

MHha b ¢ d

@ d ¢ b a

3) a d b ¢

4 d a ¢ b

Match the sanctuaries with their states :
Listl Listlil
(Sanctuary) (State)

iy Dachigam wild life sanctuary a) West Bengal

i) Sundarabans wild life sanctuary b) Assam

iiiy Periyar wild life sanctuary c) Kerala

iv) Manas wild life sanctuary d) Jammu and Kashmir
i ii iii iv

(1a b c d

@2 d ¢ b a

®a d b ¢

4 d a c b

147.

ATM 7 775 forafa 7 heama sohen Meski=ar apii famw wt@ o, gma feageda st € 9%
T et AT, T AT fohd ! TR JHE WIATE WA ST ST ?

(1) A

(2) ¥ 50 uft feag

(3)

¥ 75 kg  (4) ¥ 100 Wi fegw

Banks have to redress customer complaints of ATMs not dispensing cash. What
amount do they have to pay as compensation if the default is not corrected even after

seven days ?
(1) Nil

(2) Rs.50perday (3) Rs.75perday (4) Rs. 100 perday

HEAT HINTTET ATT/SPACE FOR ROUGH WORK
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148.

34 | RN

WA, S, A S0 SRl a1 S v YR aety Joet it sma ?

(1) sRaTEm (2) Ferh (3) Fge (4) miEfenzem

With which classical Indian dance form, the terms Taganam, Jaganam, Dhaganam
and Sammishram are associated ?

(1) Bharatnatyam (2) Kathak (3) Kuchipudi (4) Mohiniyattam

149,

T g9 (UN) =1 193 o1 4e& v ?

(1) I HaH (2) =T ggH (3) femame (4) wfor
Which is the 1934 member of the UN ? '

(1) North Sudan (2) South Sudan (3) Zimbabwe (4) Zambia

150.

TR, TEHRA AR Qeht JISHT IR & hedt 7

(1) TsITda qeft 9 fermel wrea @ SRR S areao

(2) TsaTdE gefia R Wearea 30t

(3) TSUTE ST SIS SiegTed <o

(4) TSI geft 9 S R SRR G0

With what purpose has the Government of Maharashtra started the Ahilyabai Holkar

scheme ?

(1) Promote awareness regarding health and hygiene among girls and women in the
state

(2) Promote education among girls in the state

(3) Promote self-employment among women in the state

(4) Provide nutritious diet to girls and women in state

161.

el faamm Fresfggs Fian wu enftn ke s ot R yerarwie wiameg
Ffem =

6737479=23 _

(1) +++ 2 x-+ (3) +x+ (4) +xx

Study the statement given below and find the correct alternatives from those given
below to replace the question marks.

6737479=23

(1) +++ (2) x—+ (3) =x+ (4) +xx

152.

TS AT HEI3Td R fias g stedie fags Qe Tsama, =UN U 9T O 2, S
TSI I A I1 THIN, TR 24 T T Tohelt e vl 2

(1) 154 (2) 156 (3) 158 (4) 152

if a clock strikes every hour once at 1 O’clock twice at 2 O’clock and so on. How many
times will it strike in 24 hours ?

(1) 154 (2) 156 (3) 158 (4) 152

FHoodl HTHTATE! WRTT/SPACE FOR ROUGH WORK
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153, SWOxO=2060x A=32[1x A =403 % x A =72, ®LP = fbra
Toreft 2
(9 (2) 8 @ 7 4) 6
FOxO=20O x A=32,]x A=40and $$ x A =72. Then what is the
vaiue of {3 ?
(1) 9 2 8 @) 7 4) 6

154. Tl a1 STRaered §oTe IR, STiger= o7 Sierreat fowz . R e 1 9w 18 ffer Frwen
AT T HAYTS! THSAT Tohelt A8 AT ?
(1) 13 fafe (2) 26 fafae (3) 36 ffR (4) 2am 36 fufve
Ram is twice as fast as Akhil. Akhil is thrice as fast as Akshay. What time will Ram
require to travel a distance double the distance travelled by Akshay in one hour and
18 min. ?
(1) 13 min. (2) 26 min. (3) 36 min. (4) 2 hours 36 min.

155. W sweh Ty wig fas
8 (97) 6, 4 (56) 5, 6 (75) 4, 7 (?) 8.
(1) 85 (2) 102 (3) 89 (4) 48
Select correct alternative in place of question mark.
8(97)6,4(56)5,6(75)4,7 (?)8.
(1) 85 2) 102 (3) 89 (4) 48

156. &9 2012 @t wereen Mieft Wi~ o wmendt 3. 7 12 w1l & <ii-amn Syl e o) 3 2
(1) \Er (2) REr (3) AR (4) AR
In the year 2012 Mahatma Gandhi's death anniversary is on Monday. What day will it
be on 12t March; the anniversary of ‘Dandi-March’ ?
(1) Monday (2) Sunday (3) Tuesday (4) Friday

157. SeAta-aTea smft @ wig o,
CEGI : JHFD : : KMOQ: ?
(1) RPNL (2) LNPR (3) RNPL (4) LPNR
Replace the question mark.
CEGI: JHFD : : KMOQ: ?
(1) RPNL (2) LNPR (3) RNPL (4) LPNR

158, WfemgT=AT S 31 yatg faer,
6:49::7:7 :
(1) 50 (2) 42 (3) 64 (4) 62
Choose the correct alternative.
6:49::7:7
(1) 50 (2) 42 (3) 64 (4) 62

TSI HIHTATE! ANT/SPACE FOR ROUGH WORK P.T.0.
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159. @t faciean dam filemn w64 weaferean wirft @ vats faer,
968, 572, 653 ?

(1) 587 (2) 959 (3) 469 (4) 935

Choose the number similar to the numbers in the following set.

968, 572, 653 7

(1) 587 (2) 959 (3) 469 {4) 935
160. ywfrer= Wit &g AsA 7

B:9::H:?

(1} 10 (2) 81 (3) 49 (4) 100

What comes in place of the question mark ?

B:9::H:?

(1) 10 (2) 81 (3) 49 (4) 100
161. fETa aTrpd! faet.

Ve
A B C D
(1 A (2) B @ C (4) D
Choose the odd figure.
A B C D

(1) A (2) B @ C 4) D
162, SIS A7t ST e /g Faer.

A) PIS B) QAT C) CuZ D) BLW

(1) A 2 B @ C 4 D

Choose the group of letters different from others.

A) PIS B) QAT C) CUZ D) BLW

1 A (2) B 3 C @4 D
163, e e sz

A) CHM B) HMR C) LPU D) DIN

(1 A (2 B 3 C (4) D

Choose the odd one out.

A) CHM B) HMR C) LPU D) DIN

(1) A (2 B 3 C 4) D

HTTET RIS AT /SPACE FOR ROUGH WORK
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164, oo, Tiures snifer v s emea. fomwr, 0w oanfdr Sfiew ® Feer omea. 4w, T afr

e ymifores orrea. foReor, Tifg sty Sfiem & weamERia STRd. ETefierieh! SHIvrd sed € Fetey,
feran HEenERIEf A 7

(1) T ©(2) T (3) mfag (4) =9

Kiran, Gopal and Himmesh are intelligent. Kiran, Rupesh and Jeevan are hardworking.
Rupesh, Himmesh and Jeevan are honest. Kiran, Govind and Jeevan are ambitious.

Who among the following is neither hardworking nor ambitious ?

(1) Kiran (2) Gopal (3) Govind (4) Rupesh
165. SaUEN avTesT ITEUHT 71 FErel
A) 64-39 B) 74-40 C) 88-63 D) 79-54
(1) A (2) B @ C 4) D
Choose the group which is different from the others.
A) 64-39 B) 74-40 C) 88-63 D) 79-54
(1) A (2) B 3 C 4) D
166. WA I AT feviedr InRa.
I 4
3 2

3 3

I I
JaE ‘1’ = foeg, 3T Hivrd! T e 7
(1) 2 @ 3 3 4 4) 6
Two positions of a dice are given.

1 4
3 2

3 3

I I
Which number must there be on the opposite side of 1 ?
(1 2 2 3 (3 4 (4) 6

oo RIATHTE AU/ SPACE FOR ROUGH WORK P.T.O.
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167. weie famgr= SIvft 9 @i o,
i\
2 7
56
X=X
4
(1) 21\/ (2) 32 (3) 64 4) 8
Choose the correct alternative to replace the question mark.
i\
2 7
56
X2 X
4
(1) 21\/ (2) 32 (3) 64 4) 8
168. wwTa=gr=a (?) faamofi Ty angpelt faer
A RR
AR RARR ?
AR AR NN AR
M| R{K| @ RR| OIR/|KS @ R
Choose the appropriate figure in place of the question mark
A RR
AR IRAR ?
RART| &R
NN AR AR AR
DIRKT| @ KRR | @RKK| @] R

AT SHIATHTE! WTTT/SPACE FOR ROUGH WORK
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169. TSl 23&R TN,

cdd—-cd-c~ddc

(1) d,d,c (2) d,c,d (3) d,c,c (4) ¢, d,c
Find the missing letters.

cdd-cd~c—ddc

(1) d,d,c 2 d,c,d (3) d,c,c 4 c,d,c
170. TamgT=a St @ vafa fast
(1) 6 (2) 8 (3) 10 (4) 12

Select the appropriate alternative in place of the question mark

(1) 6 2) 8 (3) 10 4 12
171. @l e gesmee ey i steeh Tt faer
Tférent, oé, f&mn

mn @O o@D ) @)

Choose the correct diagram that depicts the correct relationship between the
groups given below —

Lady Teachers, Mothers, Females

n @0 o Q@D © @

172. @l 94T AT 3T Tohelt Aeo1 6 3ie Ted <t St 3 fehaT 4 T I STIid W w01 6 7’ 7 Ffa

9 2 3 .
36964663684657367664623610
(1) @ (2) =R (3) [r= (4) =&
How many such Bs are there in the following number sequence each of which is
immediately preceded by 3 or 4 but not immediately followed by 8 or 9 ?
36964663684657367664623610
(1) Three (2) Four (3) Five (4) Ten

TS HIHTATS! AT/ SPACE FOR ROUGH WORK P.T.O.
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173. @l 3 foum foeft omRa. ‘o7’ 3 T oniftn w=ht @ avgem foeht o, S faumien wey wem
U foeiean SgaHTe wem e s watg e,
e : A) 7 TR gwEE TR,

B) T} GhLEE AT IR,
AIAT: ) I T S TR
) SFTE} ST 3T7e TR
(1) AN | TR AR (2) SIAM || SR 3R
(3) AN 1T || e A (4) TTEH 1T Il AR e

Study the following two statements and the conclusions that follow. Which conclusion
has been correctly drawn ?
Statements : A) All mangoes are apples.
B) Some apples are pineapples.
Conclusions: [} Some mangoes are pineapples.
I} Some pineapples are mangoes.
(1) Only lis correct (2) Onlyllis correct
(3) Bothland Il are correct (4) Bothland Il are incorrect

174.  SEIFT 3710 dfeerr afgolt s, srelin onifor svepei si1ss e, seftwan gem weng afcmmen ws
AR, T e BTN T AT 3R 7
(1) Fofe T 2) =< (3) R (4) &
Farzana and Taslima are sisters. Alim and Akbar are brothers. Alim’s son Mohamad
is Taslima's brother. How is Akbar related with Farzana ?
(1) No relation (2) Father (3) Uncle (4) Brother

175. 7 x5=VIlIl;6x5=1l1;5x3=VITWOx4="

1y XXl 2) XVI @ 4) IX
f7x5=VIl;6x5=1;5x3=Vl thenOx4=?
(1) XX (2) XVI @) 1 @) IX
176. SR DOOR =25, LOWER = 37, TOWER = 18, ® OVER = ?
(1) 60 @) 81 (3) 06 (4) 45
If DOOR = 25, LOWER = 37, TOWER = 18, then OVER = ?
(1) 60 @) 81 3) 06 4) 45

FHooaT FHINTATE! FUTT/SPACE FOR ROUGH WORK



OO 4 PRM
177. SR /P = 43094 |=33@a @« 7 = 5.

(1) VJ @ T @ Y 4 JE
If JP =4and \j=3,then /2 =5.
1 VI @ VT @ VY @ JE

178. U1 Hishiash W BROKE #1168 DOSFK a1 faafeent, START 21 358 UQEMZ 31 ferfRet @
INDIA’ &1 w58 = fafden wida 2
(1) KKHDG (2) KHDKG (3) DHGKK (4) KHGKD
In a code language if BROKE is written as DOSFK and START as UQEMZ, how will
INDIA’ be written ?
(1) KKHDG (2) KHDKG (3) DHGKK (4) KHGKD

179. e fafime i fFdmed feremn e wem qdiar- s sewe ST,
1, 2, 3 Fi=aREsh 1
4, 5, 6 FrANEs 2
7, 8, 9 grAmEsh 3
‘0 I A S A
Fet I5E s et mivrare FemmsEm e TeEena we w9 i, e Iwidie S g
e JH) sEe iy I TR J W FE A ?
825 - 437 +302="7

(1) 690 (2) 300 (3) 200 (4) 100
In a peculiar mathematical operation, the numbers are first changed as per the
following rule :

1, 2, 3changedto 1

4, 5,6 changedto 2

7,8,9changedio 3

‘0’ remains unchanged.

The various mathematical operations are then carried out and the result obtained at

the end is once again changed as per the above rule. What is the net result ?
825-437 +302="7

(1) 690 (2) 300 (3) 200 (4) 100
180. W T ihfas A¥d ‘QUEEN’ =1 /58 OVCFL 3181 ferféet ot *KING’ w1ee = forfee widat 2
(1) MKOF (2) IJLH (3) PHIK (4) FOKM

In a code language if the word ‘QUEEN' is written as OVCFL, how will the word
‘KING’ be written ?

(1) MKOF (2) 1JLH (3) PHIK (4) FOKM

T HIHTATE! ANTT/SPACE FOR ROUGH WORK P.T.O.
A
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235 4
117 7

59 29 15
(1) 471 (2) 469 (3) 470 4 2
Fill in the blank place with suitable number

?

235 4
117 7

59 29 156
(1) 471 (2) 469 (3) 470 4 2

182, e forgrea feshmoret Fem Tatel swumgy T w0,

3 2 2 1
35 9
(1) 63

2y 7 (4) 86

Replace the question mark ?

3 2 2 1

35 9
(1) 63 2 71 (3) 72 (4) 86
183. ST EDUCATION ¥¢ 5421312091514 3191 feifeen at CAT shar ferfeen sidw ?

(1) 13120 (@ 3120 (3) 312 (4) 31209
if EDUCATION is written as 5421312091514, then how will CAT be written ?
(1) 13120 (2) 3120 (3) 312 (4) 31209

Hoegl hIATATS] ARTT/SPACE FOR ROUGH WORK
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184.

hT T SINFER P, Q, R, S, T IAWEd 5, 6, 7, 8, 9 € 27 AT 3. vl fedtean we
e Q EE 7 a1 9 AEhY Hivrere 37 AR, P @i faew av R wid) ufeen @ o7 9t o S
wee 5t 3R Fohet 9 7 3R YU T et AW 7,8, 9 AR hivTaTe AT A1 AifRefrean Stmem wien.
QxS-~-PxR _
=
(m 3 2 6 @ 9 4) 12

P, Q, R, S, Tin a coded language are represented by numbers 5, 6, 7, 8,9, butnotin
that order. Q is neither 7 nor 9. P is an odd number while R is the first even number.
S is either 5 or 9 but T is neither 7 nor 8 nor 9. Find the value of

QxS-PxR
=
(h 3 (2) 6 3 9 4) 12

?

?

185.

FWH 9,000 . WSl Te T 431 G& shedl. TR ATHa ofit 12,000 3. 2 sede He[d &/
T O =T S92T 2550 %, T e quiten arer Rt ?

(1) 1,350 %. () 1,175 .

(3) 1,200¢%. 4) 1,250 %.

Krishna started a business with a capital of Rs. 9,000/-. Four months later Rani Joined

him with a capital of Rs. 12,000/-. lf at the end of the year, the total profit earned was

Rs. 2,550/, what will be Rani's share of profit ?

(1) Rs. 1,350 (?) Rs.1,175

(3) Rs. 1,200 (4) Rs. 1,250

186.

fifere, frgw, =iide, Glen 1ol 1y S| Tild 39 HARd. RuSw gyl 391 AR, *ifds
Higr=at [@ e,  fafcrs starersn 7/ 7. s fafde mifderea ot av@a @ 29 Jpt o €
3R 7

(1) =vew, A7 : (2) drem, fiufer

(3) i, ffere (4) fufes, 2w

Milind, Siddhesh, Kartik, Soham and Akshay are standing in a bus queue. Siddhesh

is at the centre. Kartik is not ahead of Soham. Milind is not behind Akshay. If Milind is
behind Kartik, who are at the two ends ?

(1) Soham, Akshay (2) Soham, Milind

(8) Kartik, Milind (4) Milind, Akshay

THoed TIHTEE! ST/ SPACE FOR ROUGH WORK P.T.0.
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187. wwAfa—gTemn SIvfl v o1 354 7

(1 5 9 @3 6
Replace the question mark

R 0

4 1

(1) 5 2 9 3) 6 4) 11
188. fedtem srpefia forelt Brenior arrRa ?

(1) 5 (2 10 (3 11 4y 9

How many triangles are there in the given figure ?

(1Y 5 (2) 10 (3) 11 4) 9
189. femieht et wrevaTaTt Feftasrt ford) Twes Ya1 sravE 2ea 7

(1y 16 (2) 28 (8) 20 (4) 24

How many minimum number of straight lines are required to draw this figure 7

(1) 16 (2) 28 (3) 20

4) 24

HEAT AR ANT/SPACE FOR ROUGH WORK
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190. a1, ¥, %, T & IR WA IRH N1 IR BT SRRl SRaieeaTIae 3t o, SR A, 7, F
Nt T TS A SIS FRar eg IR S w29 Fed 9 wls ST wE d@en
e SraTean diF Tjgah AW =Terel W @refieryehl FUR faum Fird ?

A o
v
ﬁw—‘—-m
kS
E-S w
(1) <= <hirvien & ardw (2) =T ATRIAT § A
(3) = =1 SN A A (4) 3 =1 <fgvien § WA

A, B, C and D are standing on four comers of a square field as shown in the figure.
From the positions given in the figure, A, B, C and D started walking along the sides
in anticlockwise direction and move a distance equal to three sides each. If all moved
with the same speed and started at the same time, which of the following statements
is correct ?

A B
West

Sduth + Ngrth

East
D C

(1) Cisto the South of D (2) B is to the South-East of D
(3) Ais tothe North-East of C (4) D is tothe South of A

191.  TE=H1 T FHAY &1 ST ehgd ITeaT ST YR 71 SSEihgd Hel 3R, W1 S adrees
HEYTE FHAY TG AUET Tral T TR I Thed fohaa 218 7
(1) 7t ) 11th (3) 14t , (4) 18th
In a row of boys, Kamlesh is fifth from left and Prathamesh is sixth from the right.
When they exchange their positions, Kamlesh becomes thirteenth from the left. What
will then be the Prathamesh’s position from the right ?

(1) 7t (2) 11th (3) 14t (4) 18th
192. ‘CARETAKER' 1 YiaTdid Ured, Za 21for o77ad Yeaten amae foheft sveiyof wrsq swaan Ifie 7
(1) 3 @ 2 (3) 1 (4) TehEl A

How many meaningful words can be formed using the fifth, second and eighth letters
of the word ‘'CARETAKER’ ?

(1) 3 2 2 (3) 1 (4) None

T WHTATE AT/ SPACE FOR ROUGH WORK P.T.O.
A
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193. wreftel 3Tkt Bravior &1 R axiferdl, <N w1 foafea ot wxifoat onifr o 1 v Fgema
TRUIR Tl SR, Tohs FgaTd UevIR faanfea wig et vau S 7 o= gl SI0rea et
i @mmRa ?
E F
D B/ C
A
(1) C @ F 3) D 4) A
In the following diagram, triangle represents the school teachers, the rectangle
represents the married persons and the circle represents the persons living in joint
famities. Married persons living in joint families but not working as school teachers
are represented by which letter ?
E F
D B/ C
A
(1 C 2 F 3 D (4 A
194. e e sween geare fes.
3) (52, 142) q) (54, 126)
%) (56, 168) g) (58, 184)
(1) =) (2) =) (3) =) 4 %)
Choose the number group which is different from others.
a) (52, 142) b) (54, 126)
¢} (56, 168) d) (58, 184)
(1) a) (2) b) (3) ¢ (4) d)
195, AR qToaTdte TfEn st v et

ot 74
) &7/ @ JR @ o7 @ K/

Find the correct water image of the figure given below from the alternatives

Question Figure —7@
ay 67/ @ AR @ &7 @ K/

wHoedT HIATATS! AT/ SPACE FOR ROUGH WORK




1RGN | a7 PRM

196. Tt sipmferhutiicl g7 ofiesEt 9w R @t fedienn ar wfamyg At geneds
FareTea SIS 37 MY Fel.
3, 15, 35, 7, 99, 143
(1) 63 (2 69 (3) 77 (4) 81
There is a number series with one term missing shown by ?. Find this term from the
four alternatives given below.
3, 15, 35, ?, 99, 143
(1) 63 (2 69 3y 77 (4) 81
197. 1988 31 af wstermws fo Hearl gar. W 1990 M1 i wndsafed v art 38 ?
(1) €maw (2) FHEw (3) e (4) taam
The Republic day in 1988 was on Tuesday. On which day was the independence
day in 1990 ?
(1) Monday (2) Wednesday (3) Friday (4) Sunday
198. If i) P x Q=139 3R, PRI Q =1 1S 37K,
i) P+ Q= e o1, P&t Q <t sfgwr a1,
iii) P+ Qa1 31 o, PR Q9 afsd o,
iv) P — Qa1 a1d a2, P & Q <t 118 1.
W, 'S & wreh e R =Y ? wivren feeqe s 8 7
(1) SxT+J+R 2 R+ M-S+T
3) R—-M+SxT (4) St T
if i) P x Qmeans, P is brother of Q.
ii) P~ Qmeans, P is sister of Q.
iii) P+ Q means, Pisfatherof Q.
iv) P —Q means, P is mother of Q.
Then, 'S is niece of R’ will be represented by which alternative 7
() SxT-J+R 2 R-M-S+T
3 R-MLSxT (4) None of the above
199, WHA JEodId JEe U8 FHI0 7
2232342345234562345672345677
(1) 2 (2) 5 3 7 (4) 8
What will be the next term in the following series ?
2232342345234562345672345677
(1 2 () 5 (3) 7 (4) 8
200. TF TSATS Tsh TETEA 20 Tehe AW Usd. Niar TwEE 6 Tieid1 T8=ies el Tad 8. GiEamnd
IR 12 F1ord1 1 TS BV} 23 Srafored sidet ?
(1) 12.18 (2 11.20 (3) 11.42 (4y 12.36
A watch runs 20 seconds slow per hour. The watch was set right at 6 a.m. on Saturday.
What time will the watch show at 12 noon on Monday ?
(1) 12.18 2) 11.20 (3) 11.42 (4) 12.36
ol HITTATE! FRT/SPACE FOR ROUGH WORK P.T.0.
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T - (TR TEA .

(8) wegfeRrmed fafga st fafire Srfte #d oM (6 9% ) R . yEgReehoaiaie saabshet
1 3R FVER F5d FW Hedid o il AT AW Fel HR, 30 AHS IR 9 AAR
IheFET I TR oot rlianimed gt TR TiiEy soaeeas aftien-82"
AT ISR FRATS AT Aged o At ) STt Ush SNt shvarar=a avifor/ fohan €02
Teh TR TS 58T Heig ume giga.

(9) WX THEEERT sTEmH fafda Faeht 30 Yoot IRTEEn € wHgfae @ St
TURITRLTART U SIEE WM 3R, AT THETwETET Wvarge| IR et
ITATNFT WRT ~ 1 AHALTwRThS F footar wa = snayas JR.

AHAT T
T %, 201, T ATE 752 FHoArdt Fivlt gerd: T el 7
(1) T eETT dead) (2) dvaas R
(3) T THEYES T (4) TR THE

ST F I °(3) U TR T 37 TR, e a1 e S (3) Big. Ad
@refteraat 9. %. 201 gad SW-F9F Q) R Ig it sRifEs wE gt
A IR

w201 @O @ @ @

ST Il g TRk Fedeh SRATE g IHGRE TS 81 qReTen Wi [t
T HiesT W atets arard, A a1 e 4 91 Ta.

THoST THIHTATS! AR/ SPACE FOR ROUGH WORK




